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Question Number : 1 Question Id : 64635016825 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A teacher gives lot of positive and negative examples to support his / her presentations in the
classroom. Thigs will be related to which level of teaching?

(1) Autonomous development level (2)
(3) Understanding level (4)

Options:

Memory level

Reflective level



EAE35066095. 1
E4E35066100. 2
64535066101, 3
64535066102, 4

Question Number : 1 Question Id : 64635016825 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350660399, 1
E4E35066100. 2
E4E35066101. 3
EAE35066102. 4

Question Number : 2 Question Id : 64635016826 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Below are listed some learners’ characteristics. Identify those that help in effective teaching.

(a) Learners’ respect for teacher

(b) Learner’s level of mental ability

(c) Learner's previous experiences

(d) Learner's level of interest to study

(e) Learner's level of interpersonal relation
(fi Learner's view about the society

Select yvour answer from the options given below :

(1) (&), ®), (© and ® (2) (c), (), (e) and (D)
3) (@), ), (c) and (d) @ (b), (), (d) and ()
Options:

64535066103, 1
64535066104, 2
64535066105, 3
EAEZE06E6106. 4

Question Number : 2 Question Id : 64635016826 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535066103, 1
64535066104, 2
64535066105, 3
EAE35066106. 4

Question Number : 3 Question Id : 64635016827 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Below are given two columns. Column — A lhists methods of teaching and Column — B lists the
focus of a method. Match Column — A with Column — B.

Column A Column B
(a) Lecture method (1) Emphasizing the participative procedure
of an act
(b) Demonstration method (i) Experience based learning
(c) Project method (111) Imparting large amount of knowledge
(d) Collaborative method (iv) Students engage in different activities

together and learn
Select your answer from the options given below :
(1) @-0); b)), ©)-@); @-av)
@  (@-a); b)-av); ©-0); (d)-Q)
@  (@-Gi); (b)-0); ©-Gi);, (d-0v)
@  (a-0i); (b)-G); ©-0v); -0

Options:
64535066107, 1
64535066108, 2
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Question Number : 3 Question Id : 64635016827 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535066107, 1
64535066108, 2
4835086109 2
64535066110, 4

Question Number : 4 Question Id : 64635016828 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Below are listed some activities performed by a teacher. Which activities are of the nature of
formative evaluation?

(a) Giving a mastery test

(b) Conducting quiz session

(¢) Evaluating students in grading system

(d) Providing feedback while teaching

(e) Encouraging students reflect more

Select your answer from the options given below :
1) (a), (b) and (©
@ (b)), ©and(d)
3)  (b), (d) and (e)

@) (), (c) and (e)
Options:
645350661111
4535066112, 2
64535066112, 3
64535066114 4

Question Number : 4 Question Id : 64635016828 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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4635066111, 1

E4E3508E112. 2

64535066112,

4535066114, 4

Question Number : 5 Question Id : 64635016829 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

From the hist given below, identify those teaching methods which have a great scope for
dialogic discourses.

(a) Lecture with audio — visual aids

(b) Team teaching

(¢c) Tutorials

(d) Problem solving methods

(e) Chalk and talk method

(fi  Group discussions

Select your answer from the options given below :

(1) (&), ®) and () (2) (o), [ and
3) (b, ) and () @ (d), (¢) and ()
Options:

64535066115, 1



EAE35066116. 2
64535066117, 3
B4E535066115. 4

Question Number : 5 Question Id : 64635016829 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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645350661151
64535066116, 2
4535066117, 3
EAEZ506E8115E. 4

Question Number : 6 Question Id : 64635016830 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Supervisor’'s certification on the thesis

(1) Gives name and fame to the supervisor
(2) Clears different bottlenecks 1in the system
(3) Gives welghtage to the scholar’'s work

(4) Ensures originality of the work

Options:

64635066119, 1
4835086120 2
64535066121, 5
64535066122, 4

Question Number : 6 Question Id : 64635016830 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4635066119, 1
64535066120, 2
64535066121, =
64535066122, 4

Question Number : 7 Question Id : 64635016831 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

After identifying the different variables and establishing the logical reasoning in theoretical
framework, the next step in the research process 1s to

(1) Conduct survey (2) Generate hypothesis
(3) Focus on group discussion (4) Use experiment in an investigation

Options:

4535066123,
64535066124,
64535066125,
48350668126,

[ N Y

Question Number : 7 Question Id : 64635016831 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535066123, 1
4535066124, 2
EAEZ5066125. 3
EAE350E6126. 4

Question Number : 8 Question Id : 64635016832 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which stage in research creates a working thesis for the research paper by specifying and
organizing the category of information?

(1) Research design (2) Developing a hypothesis
(3) Rewview of literature (4) Analysis of data



Options:

64535066127, 1
E4E3508E12E8. 2
4535086129 2
64535066120, 4

Question Number : 8 Question Id : 64635016832 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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BAE35066127. 1
64535066128, 2
64535066129, 3
EAE35066130. 4

Question Number : 9 Question Id : 64635016833 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Participation in which type of research has the great potential for ensuring the improvement
of the professional as well as work situation?

(1) Fundamental research (2) Applied research
(3) Evaluative research (4) Action research
Options:

E4E35066121. 1
EAE35066132. 2
B4E535066133. 3
64535066134, 4

Question Number : 9 Question Id : 64635016833 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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64535066131, 1
64535066132, 2
EAEZ50EE8133. 3
EAE35066134. 4

Question Number : 10 Question Id : 64635016834 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Reference serves the purpose of
(1) Lending authenticity to the given content (2) Insightful decision making
(3) Giving ornamental value to theresearch (4) Exhibiting the great achievement

Options:

64635066135, 1
64535066136, 2
64535066137, 2
64535066138, 4

Question Number : 10 Question Id : 64635016834 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E4E35066135. 1
EAE35066136. 2
EAE35066137. 3
64535066138, 4

Sub-Section Number: 2
Sub-Section 1d: 646350808
Question Shuffling Allowed : Yes

Question Id : 64635016835 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label @ Comprehension



All great thinkers live and move on a high plane of thought. It 1s only there they can breathe
freely. It 1s only in contact with spirits like themselves they can live harmoniously and
attain that serenity which comes from ideal companionship. The studies of all great thinkers
must range along the highest altitudes of human thought. I have always thought that the
strongest argument 1n favour of the Baconian theory was, that no man, however indubitable
his genius, could have written the plays and sonnets that have come down to us under
shakespeare’s own name who had not the liberal education of Bacon. The magnificent ideals
that have ever haunted the human mind and given us our highest proofs of a future
immortality by reason of the impossibility of their fulfilment here, are splintered into atoms
by contact with life’s realities. Hence comes our sublime discontent. A habitual mediation on
the vast problems that underline human life and are knit into human destinies — thoughts of
immortality, of the littleness of mere man, of the greatness of man’s soul, of the splendors of
the universe that are invisible to the ordinary traffickers in the street, as the vastness of St.
Peter's 15 to the spider that weaves her web in a corner of the dome—these things do not fit
men to understand the average human being, or tolerate with patience the sordid
wretchedness of the unregenerated masses. It 1s easy to understand, therefore, why such
thinkers fly to the solitude of their own thoughts, or the silent companionship of the
immortals and if they care to present their views 1n prose or verse to the world, that these
views take a sombre and melancholy setting from “the pale caste of thought” in which they
were engendered.

Sub questions

Question Number : 11 Question Id : 64635016836 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Great thinkers are content to live

(1) Amidst crises of civilizations
(2) In lofty thoughts with an exceptional calm
(3) At high altitudes in order to be away from society

(4) With complexities of life and find solutions to them

Options:

64535066139, 1
64535066140, 2
4835086141, 2
64535066142, 4

Question Number : 12 Question Id : 64635016837 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to the passage, our sublime discontent 1s due to

(1) Realization of our lack of contact with God
(2) Acute sensge of loneliness 1in a hostile world

(3) Possibility of immortality through some channels to god and the inability to get hold
of it
(4) The contrast between the ideals in great literature and their opposite in the real life
Options:
CAE3E0EE145. 1
CAE2E0sE144. 2

64535066145, 3
64535066146, 4

Question Number : 13 Question Id : 64635016838 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Bacomian liberal education 1s

(1) A lofty and ideal fantasy

(2) Instrumental in making human beings rue over their destiny
(3) An engagement with the intricacies of the day to day life

(4) Equivalent to ancient ideas of sublimity

Options:

64535066147, 1
64535066148, 2
4835086149 2
64535066150, 4

Question Number : 14 Question Id : 64635016839 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Immortality is the crucial idea constantly being explored by

(1) Ordinary traffickers (2) Great thinkers
(3) Gods who appear to the thinkers (4) Scientists
Options:

64535066151, 1
64535066152, 2
E4E35066153. 3
EAE35066154. 4

Question Number : 15 Question Id : 64635016840 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Why do great thinkers love solitude?

(1) To be in pursuit of the ideal in the company of immortals

(2) To spend time in peace

(3) Because they are misanthropists

(4) Because the world 1s unhealthy for them
Options:

E4E35066155. 1
E4E35066156. 2
B4E535066157. 3
64535066158, 4

Question Id : 64635016835 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label @ Comprehension
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Sub questions

Question Number : 11 Question Id : 64635016836 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64635066139, 1
64535066140 2
64535066141, =2
4835086142 4

Question Number : 12 Question Id : 64635016837 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535066143, 1
4835086144, 2
64535066145, 5
4535066146, 4

Question Number : 13 Question Id : 64635016838 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4635066147, 1
64535066148, 2
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EAE35066150. 4

Question Number : 14 Question Id : 64635016839 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E4E35066151. 1
64535066152, 2
64535066153, 3
64535066154, 4

Question Number : 15 Question Id : 64635016840 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535066155, 1
64535066156, 2
64535066157, o
64535066158, 4

Sub-Section Number: 3
Sub-Section Id: 646350809
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635016841 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Assertion (A) : Communication has the power to inform, persuade and misinform.

Reason (R) : Propaganda blurs the thin line between truth and falsehood to be persuasive.

Choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
(3) (A) 18 true, but (R) is false

(4) (A) 15 false, but (R) is true



Options:

64535066159, 1
E4E3508E160. 2
E4E3508E1E8L1. 2
64535066162, 4

Question Number : 16 Question Id : 64635016841 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4835066159, 1
64535066160, 2
64535066161, o
64535066162, 4

Question Number : 17 Question Id : 64635016842 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A basic principle of effective class room communication 1s that one should adapt his or her
OWT1 to the audience.

Which of the following would replace the gap?

(1) Accent (2) Exterior
(3) Message (4) Mannerism
Options:

64535066162, 1
EdEZE0EE164. 2
EAE35066165. 3
EAE35066166. 4

Question Number : 17 Question Id : 64635016842 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E4E3506E61E3. 1
EAE35066164. 2
EAE35066165. 3
EAE35066166. 4

Question Number : 18 Question Id : 64635016843 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A key element for effective classroom communication is

(1) Passivity (2) Negativity
(3) Deflection (4) Advocacy
Options:

BAE35066167. 1
64535066168, 2
64535066169, 3
EAE35066170. 4

Question Number : 18 Question Id : 64635016843 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4535066167, 1
64535066168, 2
E4535066169. 3
EAE35066170. 4

Question Number : 19 Question Id : 64635016844 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In communication process, body language 18 associated with

(1) A culture (2) A movie audience

(3) A classroom situation (4) A subject taught

Options:



EAE35066171. 1
BAE35066172. 2
B4E35066173. 3
64535066174, 4

Question Number : 19 Question Id : 64635016844 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535066171, 1
64535066172 2
E4E3508E1732. 2
E4E3508E6174. 4

Question Number : 20 Question Id : 64635016845 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Local and face-to face commumnication 1s referred to as

(1) Clinical integration (2) Demonstrative integration
(3) Social integration (4) Spatial integration
Options:

B4E35066175. 1
BAE3506617E. 2
4535066177, 3
4535066175, 4

Question Number : 20 Question Id : 64635016845 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T 3 A -0 =1 1 F27 Hgl 41 2 7
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Options:

64835066175, 1
E4E3E0EE17E. 2
64535066177, o
64535066178, 4

Question Number : 21 Question Id : 64635016846 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Choose the correct alternative.
Cup 1g to coffee as bowl 15 to

(1) Dish (2) Soup
(3)  Spoon 4) Food
Options:

B4E35066175. 1
64535066180, 2
64535066181, 3
EAE3S0EE18Z. 4

Question Number : 21 Question Id : 64635016846 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e fawed I : 9 R FTE T A FEY 2 99 F9d HeU $R T 2|
(1)  =asH (2) HU

(3) == (4) IT=F

Options:

B4E35066175. 1
64535066180, 2
64535066181, 3
4535066182, 4

Question Number : 22 Question Id : 64635016847 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The sixth number in a sequence of numbers 15 32 and each number after the first number in
the sequence 1s 4 less than the number immediately proceeding 1t. What 1s the third number
1n the sequence?

(1) 36 (2) 40
(3) 44 4) 48
Options:

645350661583, 1
64535066154, 2
E4EZ506E6185. 3
EAE35066186. 4

Question Number : 22 Question Id : 64635016847 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

foret T w0 A o8 wE 32 R 3R 3| wI U vem UEw % W ARael Y% Hedl 36E A% gge
arefl T H 4 9 2| 36 gEal H q|i qem e 27

(1) 36 (2) 40
(3) 41 4 48
Options:

B4E535066183. 1



EAE350661854. 2
B4E535066185. 3
BAE350661586. 4

Question Number : 23 Question Id : 64635016848 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In a class, 20% of the boys have blue eyes and 10% of the girls have blue eyes. If the ratio of
boys to girls in the class is 4 : 3, then what 1s the portion of the students in the class having
blue eyes?

(1) 12/ 33 2y 1445
@ 11/45 @ 11/70

Options:

E4E350668187.
E4E3506E18E.
4535066189,
64535066190,

[

Question Number : 23 Question Id : 64635016848 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
foeft e © 20% o=l I o el ? et 10% wsfEd 6 e et 21 afE wan § @S &
agferdi &1 o 4 ¢ 3 2 @1 wen ° Neft o€ g fgenfd= o s 27

(1) 12/33 (2) 14/45
(3) 11/45 @ 11/70
Options:

E4535066187. 1
64535066188, 2
E4E350EE6189. 3
EAE35066130. 4

Question Number : 24 Question Id : 64635016849 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

During one vear, the population of a town increased by 5% and during the next year, the
population decreased by 5%. If the total population 1s 29925 at the end of the second year,
then what was the population size in the beginmng of the first year?

(1) 25000 (2) 30000
(3) 33000 (4) 36000
Options:

E4E35066191. 1
EAE350661392. 2
B4E5350661393. 3
645350661394, 4



Question Number : 24 Question Id : 64635016849 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

el TR i SEE H UH a¥ 5% 6 ghE T3 IR O a9 e ° 5% @i fiuae o) 3fg gh |y
& ¥d U FA AEEN 29925 2 1 WUH A9 F WA H TR AEE o6 ?

(1) 25000 (2) 30000
(3) 33000 (4) 36000
Options:

64535066191, 1
4535066132, 2
E4E350661393. 3
EAE350661394. 4

Question Number : 25 Question Id : 64635016850 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The simple interest on a certain sum of money at the rate of 5% p.a. for four years 1s Rs. 420.
At what rate of interest, the same amount of interest can be received on the same sum after
two and half years?

(1) 4% (2) 6%
3) 8% @) 10%
Options:

645350661395, 1
E4E53506613E. 2
EAEZ506E81397. 3
E4E3506613958. 4

Question Number : 25 Question Id : 64635016850 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tt w=fst =1 5% 1 T W WEw AW 420 WY 2 A R6E 9 2 O 34t #@ gt w96 %
TSI S T 3a<t € Tl e E et 27

1) 4% (2) 6%
(3) 8% 4) 10%
Options:

EAE350661395. 1
EAE35066196. 2
BAE350661397. 3
645350661358, 4

Question Number : 26 Question Id : 64635016851 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘All children are not greedy’ 1s an example of which proposition?

(1) Universal Affirmative (2) Universal Negative
(3) Particular affirmative (4) Particular Negative
Options:

E4E35066199. 1
E4E35066200. 2
64535066201, 3
E4E350E620Z. 4

Question Number : 26 Question Id : 64635016851 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

At o= AT T2 2| 98 6 9 99E W TR R

(1)  AEATs AfaasEs (2) TS TiaeT=E
@) fafe afte=s (4) Tabe afeE=Es
Options:

E4E35066195. 1
EAE35066200. 2
64535066201, 3
4535066202, 4

Question Number : 27 Question Id : 64635016852 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The argument which claims that its conclusion 1s conclusively supported by its premises 1s

called

(L) Analogical Argument (2) Inductive Argument
(3) Demonstrative Argument (4) Deductive Argument
Options:

E4E35066203. 1
BAE35066204. 2
64535066205, 3
E4E350E620E. 4

Question Number : 27 Question Id : 64635016852 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

a7 %, fored 38 s W = &1 st 2 56 send wm fews enenfemett gro gota: wwfifa 2, seam 2:

()  HGeII a (2) AT dh
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Options:



EAE35066203. 1
BAE35066204. 2
B4E535066205. 3
4535066206, 4

Question Number : 28 Question Id : 64635016853 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In a school, there are five teachers. A and B both are teaching Hindi and English. C and B
both are teaching English and Geography. D and A both are teaching Punjabi and Hindi. E
and B both are teaching History and French

Who among the teachers 1s teaching maximum number of subjects?

(1) A 2y B
(3) D 4 CandE
Options:

EAE35066207. 1
EAE35066208. 2
E4E35066209. 3
4535066210, 4

Question Number : 28 Question Id : 64635016853 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

EAEZE066207. 1
EAE35066208. 2
BAE35066209. 3
4535066210, 4

Question Number : 29 Question Id : 64635016854 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Consider the example provided below :

“There 15 no jar now on the ground”

Identify the means of knowledge (Pramana) involved 1n the example from the options given
below :

(1) Anupalabdh (2) Arthapatti
(3) Pratyaksha (4) Anumana



Options:

64535066211, 1
E4E3508E212. 2
E4E3508E2132. 2
64535066214, 4

Question Number : 29 Question Id : 64635016854 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4635066211, 1
4535066212, 2
64535066213 2
64535066214 4

Question Number : 30 Question Id : 64635016855 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Consider the argument given below :

“Sound is permanent because it is audible”

Identify the fallacy invelved in the above argument on the basis of Indian logic from the
options given below :

(1) Fallacy of trivial reason
(2) Fallacy of irrelevant reason
(3) Fallacy of contradictory reason

(4) Fallacy of wrong assertion
Options:
EAE35066215. 1
BAE350E621E. 2
BAE35066217. 3
4535066215, 4

Question Number : 30 Question Id : 64635016855 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535066215, 1
64535066216, 2
64535066217, o
645350662158, 4

Sub-Section Number: 4
Sub-Section 1d: 646350810
Question Shuffling Allowed : Yes

Question Id : 64635016856 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label - Comprehension

Consider the following table that shows the percentage (%) distribution of population of six
cities A-F, ratio of males to females and the percentage (%) of adult population 1n these
cities. Total population of these a1x cities 18 24 lakhs. In accordance with the table, answer
the questions that follow (Questions 31 - 35) :

Population city wise
City % of population Male: Female % Adult

A 21 4:3 60
B 18 i 64
§ 16 5 | i
D 20 2:8 70
E 10 1 B 15
F 15 a3 65

Sub questions

Question Number : 31 Question Id : 64635016857 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



What 1s the total number of male population 1in City D?

(1) 1.88 lakh (2) 1.92lakh
(3) 1.96 lakh (4) 2.04 lakh
Options:

B4E35066215. 1
4535066220, 2
4535066221, 3
EABZS0EEZ22. 4

Question Number : 32 Question Id : 64635016858 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the number of persons in City C who are not adult?

(1) 107520 (2) 108410
(3) 109560 (4) 110800
Options:

BAE35066223. 1
4535066224, 2
E4E35066225. 3
EABZS0EEZ2E. 4

Question Number : 33 Question Id : 64635016859 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What 1s the difference between the number of males and the number of females in City B?

(1) 42000 (2) 44000
(3) 45000 (4) 48000
Options:

EA53S0E6227. 1
EABE3S0EEZ2E. 2
EAE3IS0EE229. 3
EAE35066230. 4

Question Number : 34 Question Id : 64635016860 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The number of adults in City E 1s what percent of the number of males in City D?

(1) 825% (2) 87.75%
(3) 92.5 % 4 93.75%
Options:

BAE35066231. 1



EAB3IS0EE232. 2
BAE35066233. 3
BAE35066234. 4

Question Number : 35 Question Id : 64635016861 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
What is the number of persons of City F who are adult?

(1) 232000 (2) 230000
(3) 234000 (4) 242000
Options:

EAE35066235. 1
EAE3S0E6236. 2
BAE3S06E237Y. 3
64535066238, 4

Question Id : 64635016856 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Cuestion Label © Comprehension

Trafatea afeem e o8 =0 A - F &t S7eE & Jiawa faawn, @9 e Afgen o ok 3=
Wl H ok wafhedt 1 ufawa guian mn 2, W famm fRsiv) 37 97 TR i F9 SEe 24 9nE 2
afeteht & S8R W9 | 31-35 % IR feefi

& -aN STEET

T ST H % T % aICh
A 21 4:8 60
B 18 5:4 64
C 16 5.8 72
D 20 2.3 70
E 10 gl 75
F 15 3:2 65

Sub questions

Question Number : 31 Question Id : 64635016857 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

D-¥g § 769 i1 $a FHE 27

(1) 1.88d@@ (2) 1.92 @M@
(3) 1.96 &g 4) 2.0491E
Options:

E4E35066219. 1
BAE3S066220. 2
4535066221, 3



EABIS0EE222. 4

Question Number : 32 Question Id : 64635016858 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

C-9 1§ 37 =afeal €1 g frat 2 < auF 74 27

(1) 107520 (2) 108410
(3) 109560 (4) 110800
Options:

EAE35066223. 1
BAE35066224. 2
4535066225, 3
4535066226, 4

Question Number : 33 Question Id : 64635016859 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

B-3ret 1 g9 R afgen & @@ 1§ fran s 27

(1) 42000 (2) 44000
(3) 45000 (4) 48000
Options:

EAE35066227Y. 1
BAE3S06E22E. 2
4535066229, 3
E4535066230. 4

Question Number : 34 Question Id : 64635016860 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

D-3r&t § go8i 6 el T & feha afasm E-vet 09U 27

(1) 825% (2) B871.75%
3) 925% 4) 93.75%
Options:

E4E35066231. 1
BAE3S06E232. 2
4535066233, 3
4535066234, 4

Question Number : 35 Question Id : 64635016861 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



F-vi2t 1 feha =afts aoeh 27

(1) 232000 (2) 230000
(3) 234000 (4) 242000
Options:

EAEZ5066235. 1
EAEZS0EE236. 2
BAE3S06E237Y. 3
4535066238, 4

Sub-Section Number: 5
Sub-Section 1d: 646350811
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635016862 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

You need to use automatic calculations in preparing a budget. Which software application
should be used?

(1) Spreadsheet (2) Presentation
(3) Word processing (4) Desktop publishing
Options:

BAE35066239. 1
64535066240, 2
4535066241, 3
EABE3S0EE247. 4

Question Number : 36 Question Id : 64635016862 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tote Fior ° 2rmaent efiemtes Tiha O gsat 21 35 fOu Fe Iiredat 1 33 o st =nfEe ?

1) EEe (2) USeIH
(3) 9 JEfEm (1) TR wfsafsm
Options:

64535066239, 1
EAE35066240. 2
EAE35066241. 3
BAEZS0E6242. 4

Question Number : 37 Question Id : 64635016863 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In the context of I'T/ICT, which one of the following statements about spamming is true?

(1) Spamming 18 posting or e-mailing unsolicited advertising messages to a wide
audience

(2) Spamming is sending lines of nonsensical garbage in a chat conversation

(3 Spamming 1s posting a message that contains graphic description of something
offensive

(4) Spamming 1s an attempt to acquire sensitive information for malicious reasons, by
masquerading as trustworthy entity

Options:

435068243,
4535066244,
4535066245,
64535066246,

[ N

Question Number : 37 Question Id : 64635016863 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535066243,
64535066244,
4835066245,
E4E3508E24E,

[ N

Question Number : 38 Question Id : 64635016864 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A wvirus type that is capable of transferring from one computer to another without any ‘user
interaction’ 1 known as

(1) Worm (2) Troan
(3) Key logging (4) Boot sector virus
Options:

EAE35066247. 1
EAE35066248. 2
B4E35066245. 3
64535066250, 4

Question Number : 38 Question Id : 64635016864 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4535066247. 1
EAE350EE24E. 2
EAE35066249. 3
EAE35066250. 4

Question Number : 39 Question Id : 64635016865 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which statement is true about Random Access Memory (RAM) in a computer system?

(1) RAM 1s non-volatile and the amount of RAM 1n a computer system cannot affect its
performance

(2) RAM iz non-volatile and the amount of RAM in a computer system can affect its
performance

(3) RAM is volatile and the amount of RAM in a computer cannot affect its performance

(4) RAM 18 volatile and the amount of RAM 1n a computer system can affect its
performance

Options:

64535066251, 1
64535066252, 2
E4E3508E253. 2
64535066254, 4

Question Number : 39 Question Id : 64635016865 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Random Access Memory (RAM) & 91 § ffafga § o =9 @1+ w2t 2:
(1)  RAM amftaddig 2 ot g fawen § RAM <t amn 8 3gert * Foare qafeq =2 2 21
2  RAM rufiad-tr 2 o e fieen # RAM 1 Ao & 3wt 1 FroqmeT wenfaa 2t 2

@)  RAM vitad- 2 it S fowen # RAM it 960 ® 35 & Fwgs wwnfga 721 8 s
2
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Options:

64635066251, 1
64535066252, 2
64535066253 o
4835086254 4



Question Number : 40 Question Id : 64635016866 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What 1s the binary equuvalent of decimal number 757

(1) 1101001 (2) 101001
(3) 100101 4) 1001011
Options:

64535066255, 1
EAE3S0EEZ5E. 2
EAEZIS0EE25Y. 3
BAE35066258. 4

Question Number : 40 Question Id : 64635016866 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ZEed wEE 75 6 fg-enamt angents #9127

(1) 1101001 (2) 101001
(3) 100101 (4) 1001011
Options:

E4E35066255. 1
BAE35066256. 2
64535066257, 3
E4535066258. 4

Question Number : 41 Question Id : 64635016867 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The target set by Indian government for power from roof-top solar installations by the year
2022 1s

(1) 40.0 GW (2) 50.0GW
(3) 60.0 GW (4) 100.0 GW
Options:

64535066259, 1
E4E350E62E60. 2
EAE3IS0EEZE]1. 3
EABZIS0EEZEE. 4

Question Number : 41 Question Id : 64635016867 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 40.0 Tfimmane (2)  50.0 TrmEre
(3)  60.0 TTER (4)  100.0 TfTTETe
Options:

64535066259, 1
EABE3S0EEZE0. 2
EAE3IS0EEZE]1. 3
EABZIS0EEZEE. 4

Question Number : 42 Question Id : 64635016868 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
How many National Missions of Indian Government are there to address the problem of
chimate change?

(1) 6 (2) 8
(3) 12 @ 17
Options:

E45350662E63. 1
E453S066264. 2
EAE3S0EEZEE. 3
EAGRIS0EEZE6E. 4

Question Number : 42 Question Id : 64635016868 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SeraTy qiEads S TEe & TEEE % [ ana R F s uge e 2

1y 6 2 8
(3) 12 4 7
Options:

EAE350EE2E3. 1
EAE3S066264. 2
EAE35066265. 3
E453S0E6Z6E. 4

Question Number : 43 Question Id : 64635016869 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following types of energy sources employ direct energy conversion process to
produce electricity?

(1) Biomass (2) Wind
(3) Geothermal (4) Nuclear

Options:



EAGEZIS0EEZEY. 1
BAE3S0EE2E6E. 2
BAE3S066269. 3
4535066270, 4
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Options:

EAGEZIS0EEZEY. 1
EAE3S0EE2E6E. 2
BAE3S066269. 3
4535066270, 4

Question Number : 44 Question Id : 64635016870 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A geothermal reserve has the stored heat of 5 x 10¥9dJ. If the over all efficiency of a
geothermal power plant based on this reserve 1s 0.04, how much power can be produced by
the plant in 1 year?

(1) ~0.32 GW (2) ~064GW
(3) ~ 262 GW 4 ~63.41GW
Options:

EAE3506E6271. 1
BABIS0EEE7Z. 2
BAE3S0EE273. 3
BAE35066274. 4
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(1)  ~0.32 Tmare (2) ~ 0.64TmMETRE
(3) ~ 2.62 ThrETe 4) ~ 63.41 Trmare
Options:

EAE35066271. 1
BABZIS0EE2YZ. 2
BAE3S0EE273. 3
4535066274, 4



Question Number : 45 Question Id : 64635016871 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following materials 1s widely used 1n solar cell fabrication?

(1) Nubidium (2) Silicon
(3) Nickel (4) Chromium
Options:

E4535066275. 1
4535066276, 2
EABZS0EEZ7Y. 3
EAEZIS0EE27E. 4

Question Number : 45 Question Id : 64635016871 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0

Hiew ¥t B § =29 59 | 9 A 2

Q)  fafsm @ fafas
@ e @ Hiftem
Options:

BAE35066275. 1
4535066276, 2
EAE3S0E6E7Y. 3
EABEZS0EEZ7E. 4

Question Number : 46 Question Id : 64635016872 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The introduction of MOOC 1n open and distance learning programmes 1g justified because of
1ts

(1) Low cost considerations (2) Accessibility considerations
(3) Speed considerations (4) Novelty considerations
Options:

EAE35066273. 1
BAE35066280. 2
4535066281, 3
4535066258, 4

Question Number : 46 Question Id : 64635016872 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
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Options:

BAE35066275. 1
4535066280, 2
4535066281, 3
EABEZS0EEZEZ. 4

Question Number : 47 Question Id : 64635016873 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“Gyan Darshan” launched by IGNOU refers to which one of the following?

(1) Satellite based educational T.V. Channel
(2) Educational FM radio network
(3) (zlobal imtiative of Academic networks

(4) Online courses
Options:

64635066283, 1
64635066284, 2
64535066285, 3
64635066286, 4

Question Number : 47 Question Id : 64635016873 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

4535066283, 1
64535066284, 2
64535066285, o
645350662586, 4

Question Number : 48 Question Id : 64635016874 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Through which Act University Grants Commission came into existence?

(I)  UGC Act — 1956
(2)  UGC Act — 1949
(3) UGC Act — 1944
@  UGC Act — 1968

Options:

64535066287, 1
E4E3S08E28E. 2
45350662589, 5
4535066290 4

Question Number : 48 Question Id : 64635016874 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
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Options:

64535066287, 1
E4E3508E2EE. 2
E4E3508E289. 2
4535066200, 4

Question Number : 49 Question Id : 64635016875 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following nstitutions was established as a consequence to the closure of

Inter-Umniversity Board brought in for promotion of cooperation among the Universities in
the field of education and allied areas?

(1) Assocration of Central Universities
(2) University Grants Commission

(3) IIAS, Shimla

(4) Association of Indian Umversities

Options:
64535066291, 1



EAE3IS0EE232. 2
BAE350662383. 3
BAE35066254. 4
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4835066291, 1
4535066292, 2
64535066292, o
64535066294, 4

Question Number : 50 Question Id : 64635016876 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following instructional designs 1s part of SWAYAM launched by Government of
India?

(1) E-Tutorial

(i1) E-Content

(111)  Assessment

av)  Disecussion Forum

(V) Classroom teaching

Choose the correct option from below

(1) (1) and (11) only

@ @), (i), Gv) and (v) only
(3) (1), (1), (1) and (v) only
(4) (i11) and (v) only

Options:
64535066295, 1
64535066296, 2
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Correct Marks: 2 Wrong Marks: 0
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Correct Marks: 2 WrongMarks: 0

ST RCTCL T G FYPR s AP JERVE DR

el ()
Seap (2)
s (3)
s (4)

faedt woE el AeaE @13 wies M mEar sl
(1) =a18
(2) gremmet

(3) 79g
(4) TRE

Options:

645350663203, 1
645350662304, 2
48350863205 2
E4E3508E206. 4
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EAE35066203. 1
64535066204, 2
64535066205, 3
64535066306, 4

Question Number : 53 Question Id : 64635016879 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
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64535066307, 1
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EAE35066210. 4

Question Number : 53 Question Id : 64635016879 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



o8 il (A3 s OB S ga (A o g3 jaf iy
£2000 (1)
#2007 (2)
#1996 (3)
#1927 (4)
oTeeg, TR smfaamfier St feam waft gfs s=f s e
(1) 2009 3.

(2) 2007 3.

(8) 1996 3.

(4) 1927 %.
Options:

E4E3506E6207. 1
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64535066323, 1
E4E3508E324. 2
E4E3508E325. 2
4535066326, 4
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645350662339, 1
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(3) GIRT 31T
(4) F.9.@5H

Options:
64535066355, 1



EAE35066356. 2
BAE35066357. 3
E4E350662358. 4

Question Number : 65 Question Id : 64635016891 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fel HE &S pn “ s Bes S Os0e
SR b (1)
S I (2)
O =l )50 (8)
JS28S 5 (4)
“afefet § wiier’ st o = oM ?
(1) 3.H. F=h
(2) =l T e
(3) BIEh! 30T
(4) F.9.@5H

Options:

64535066355, 1
64535066356, 2
4835086357, 2
45350863258 4

Question Number : 66 Question Id : 64635016892 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
bl O s OeiS Jmdd “Opualai€ aly 353 & jo ghe Pl S S
“Ors” aiatac (1)
sl B30 (2)
Jul &z (3)
“OW” o Sl (4)
‘i Yigs A1 g Teb AT TG HEHT T HioT =Fe 7 ?
(1) TeFer=E sam
(2) o= 5am
(3) ¥@ =™
(4) ars el frms



Options:

64535066359, 1
E4E3508E3E0. 2
E4E3508E261. 2
4535066362, 4

Question Number : 66 Question Id : 64635016892 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fdl O s 063 omdd “Opualai€ aly 5333 & e ghe Yl S SP
“pasy” dadas (1)
alad ZBlLL (2)
Julzs (3)
“OW” e Sl (4)
‘At Yigs A1 g Teh AT TG FHaEl T HieT =7e TR 7
(1) fFer=g sa|
(2) TR TEIm
(3) @ =™
(4) ara oreht s

Options:

46350662350, 1
4535066360, 2
64535066361, 2
64535066362, 4

Question Number : 67 Question Id : 64635016893 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



" 65 Y Bl U g BT oh 45 L o e sl kS s ey
fA dil GBS gliga gaf |
05381 o2 £1857 (1)
sl p gy (3)
CsteE S e i (4)
Iy afe gima v 5w oft e a g 90 € s gem @ Pl e @
FaTell fehert oI TR ?
(1) 1857 S ARETOR.

(2) =R S FaE
(3) faspn 3asht

(4) <3 AUS FAMEY
Options:
64535066363,
G4AG35066364.
64535066365,
64535066366,

[ N N

Question Number : 67 Question Id : 64635016893 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
"o s S £V Gl Ja £ sl oh A Ly o ped dug) BigS Gig (e
(A O OB gliga gl |
Ol s 1857 (1)
i s Kl (@)
sl a8 (3)
Oses e iy ()
Uy afe giee s s oft e a7 38 € e gen an Fe fmh” @
FaTAl fepert T SR 7
(1) 1857 S HATEOR
(2) =R S "am
(3) fasem 39+h
(4) I3 T =T

Options:
E4E35066363. 1



EAE35066364. 2
E4E35066365. 3
EAE35066366. 4

Question Number : 68 Question Id : 64635016894 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
MO o Bl M S AT Hua 988 (o gy oy ey (sl Al ga L LA
{ A d (Al S gl 5 s
e (1)
s> (2)
Ligye (3)
i (4)
21 21 e, Sgfl ta, ot o g @ 3R St Hare feae 1wt
A =T R ?
(1) =9
(2) =
(3) U@
(4) ufer

Options:

4635066367, 1
64535066368, 2
64535066369, o
E4E3S08E370. 4

Question Number : 68 Question Id : 64635016894 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



MO Sl 1S A e 9588 O o g el el Al ga b A"
fed) O i @ 8 9b) 5 s

el (1)
>3 (2)
Lizne (3)
G (4

21 21 e, SgfE tmn, | ofedf o e @ = 'R St Far feae 1 St
AT =TT 3R ?
(1) =v9

(2) =kt
(3) wHUFH
(4) gferh

Options:

4835066367, 1
E4E3E0EE3EE. 2
64535066269, 5
4535066370, 4

Question Number : 69 Question Id : 64635016895 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A% omle s M e gsle 2 52Vl

B (1)
Jslsd (2)
e LS (3)
2 (4)
et o mie giae fayg s wwi gamE
(1) =@t
(2) B
(3) <ferm wys
(4) et
Options:

64535066371, 1
EABZS0EEE7Z. 2
EAE350EE2373. 3



EAE3I506E374. 4

Question Number : 69 Question Id : 64635016895 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
A% omle s M e gsle 2 52Vl
B (1)
s :.
Jalsa (2

dew A5 (3)

s (4)
e 5t miet g fag s awd gamt
(1) =@
(2) B
(3) <ferm wys
(4) eher=t
Options:

64535066371, 1
EAB3S0EEE7Z. 2
EAE350EE2373. 3
BAE35066374. 4

Question Number : 70 Question Id : 64635016896 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

LTTYG RN RPN B

Jhiw (1)
@ i (2)
e (3)
K (4)
fag @ 32t e ferert fuan ?
(1) =g
(2) fag &
(3) =@
(4) =T
Options:

EAE350662375. 1



EAE3IS0EE37E. 2
BAE3IS0EE377. 3
BAE350662378. 4

Question Number : 70 Question Id : 64635016896 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ORGP PN T

Mie (1)
@ st (2)
Liie (3)
KA (4)
firg % 381 it Reer o 2
(1) Hue
(2) g &
(3) #=a
(4) =M
Options:

BAE350662375. 1
64535066376, 2
E4E350EE37Y. 3
EAE3S0EE37E. 4

Question Number : 71 Question Id : 64635016897 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
@l el sdyp gl s s slin
anﬁ” 4 2 Lﬁ E'_ﬁ' [1)
oli ol (2)
“é.“..u]” u'_}x.llj:;_!l.lﬂ:- e (3)

aubllue 4als (4)

faefier St 93 ¥ 92 WIEE o2 7
(1) s T J8re
(2) wfea a7eft g

(3) i TegEERT W
(4) Mg FogAAAE



Options:

64535066379, 1
48350863280, 2
E4E3508E281. 2
64535066382, 4

Question Number : 71 Question Id : 64635016897 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
2l el Sdsa i s s s gl
anﬁ” 4 = (ji Ej- [1)
v (_I‘n ":'J'-.g'—". [2}
“« Sl Guillae y ()

cabllue 4l (4)

fasfier =it a3 # a3 TEE AR’
(1) Eel® T J8re
(2) wfer 37edl =18

(3) T sTegergd F
(4) TR g

Options:

E4E35066379. 1
645350662580, 2
64535066381, o
64535066382, 4

Question Number : 72 Question Id : 64635016898 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



AT 8 & gt i » sRi g UK g ) o S g
Pdyi gl (1)
<Ll Jus Sily (2)
“sdl)” hag (8)
Ll gfe (1)

Tasen It forama st fasht gaem &= sme?
(1) ammea fra
(2) S1.3I AT
(8) o1 TR
(4) g MmN

Options:

64635066383, 1
645350663584, 2
64535066385, o
4835086386 4

Question Number : 72 Question Id : 64635016898 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
(AT 8 ol gif aa 5 slie g UK Mg f o S g
it gaaly (1)
“LE s sl (2)
“Bl7OhE (3)
Lal b (4)

T 331 forame ot fasdft gaem &% s ?
(1) amaea
(2) B3I AN
(8) Fw T
(4) g g

Options:

4635066283, 1
64535066384, 2
64535066385, o
645350663586, 4



Question Number : 73 Question Id : 64635016899 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

St Aot g (-8 5 S (A B P g M ik

S (1)
S (2)
oses (3)
Ay (4)
feperT=g ew Y 1 +fzs wifet &1 area @ ?
(1) =rfeh
(2) =E
(3) PrEFRg
(4) TSRO
Options:

64535066357, 1
EAEZS0EEZEE. 2
EAE350662389. 3
BAE350662330. 4

Question Number : 73 Question Id : 64635016899 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

St Aot g (o e 5 S (A S P g N iag

€ (1)
S (2)
asiiss (@
ey (4
fersrae e’ Ty o feg wifex =1 areean @12 ?
(1) =rfeh
(2) =@t
(3) TRy
(4) TSN
Options:

EAE3S0EE3EY. 1
EAE3S0EE3EE. 2



EAE3506E389. 3
BAE350662330. 4

Question Number : 74 Question Id : 64635016900 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

&35 (1)
Jdsb (2)
e (3)
Ogaine (4)
fosem 3ash’ +fedt fae 1 fofema s ?
(1) e
(2) fa@
(3) <hamil
(4) T
Options:

E4E350663591. 1
EAE35066392. 2
BAE350663393. 3
E4E350662354. 4

Question Number : 74 Question Id : 64635016900 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fotl I8 o Calba (5368 « gl 28 57

&35 (1)

Jss (2)

e (8)

Osae (4)

e 3’ wfest faw o fafewa ame?

(1) s
(2) ifaa
(8) HaTull
(4) 7T

Options:



EAE350662391. 1
BAE350663382. 2
E4E5350663393. 3
645350663394, 4

Question Number : 75 Question Id : 64635016901 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tl O g 1 6 368 (o B
bqki‘;ﬁ@ (1)
Onsos (2)
Cra oda (3)
a4l (4)
Tl Al HEg TF 0 A TR
(1) 3w

(2) ufEty

(8) @ AA
(4) A =eAt
Options:

E4EZ50663595. 1
EAE35066396. 2
BAE35066337. 3
645350663398, 4

Question Number : 75 Question Id : 64635016901 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Ee (1)
G (2)
L“_uyu_;i_m (3)
Rl (4)
T =Tt HES 26 7 AT 187
(1) zoFR
(2)
(3) =w Ay
(4) 3 =t
Options:
64535056355 1
64635066396 2
EAB3506E397. 3
EAB3Z50EE395. 4
Sub-Section Number: 2
Sub-Section Id: 646350813
Question Shuffling Allowed : Yes

Question Number : 76 Question Id : 64635016902 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



oSl 139a a (RSl 5 (8

Sl aia e ey (@) 0 Sl (A)
Gep 5 (i) F2&s (B)
i e a0 (i) B a8 (C)
clrygses (iv) Al (D)

(1) (A) - (1), (B) = (iii), (C) = (iv), (D) = (i)
(2) (A) - (i), (B) — (iii), (C) — (i), (D) — (iv)
B (A) - (1), B) = (ii), (C) - (iii), (D) - (iv)
4)  (A) - (iv), (B) - (iii), (C) — (ii), (D) — (i)

Trama st s St e
ATaTE R i) 95T TEEe s
B) gaami ii) 2f fermefi

C) wam firg iii) @ 9 =@l

D) arsfiae iv) Sieeh =0

(1) (A) - (i), (B) - (iii), (C) - (iv), (D) - (i)
(@) (A) - (i), (B) — (iii), (C) — (i), (D) — (iv)
) (A) =), (B) - (i), (C) - (iii), (D) = (iv)
4)  (A) - (iv), (B) — (iii), (C) — (ii), (D) — (i)

Options:

E4E350663499. 1
64535066400, 2
64535066401, 5
64535066402, 4

Question Number : 76 Question Id : 64635016902 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



oSl 139a a (RSl 5 (8

Sl aia e ey (@) 0 Sl (A)
Gep 5 (i) F2&s (B)
i e a0 (i) B a8 (C)
clrygses (iv) Al (D)

(1) (A) - (1), (B) = (iii), (C) = (iv), (D) = (i)
(2) (A) - (i), (B) — (iii), (C) — (i), (D) — (iv)
B (A) - (1), B) = (ii), (C) - (iii), (D) - (iv)
4)  (A) - (iv), (B) - (iii), (C) — (ii), (D) — (i)

Trama st s St e
ATaTE R i) 95T TEEe s
B) gaami ii) 2f fermefi

C) wam firg iii) @ 9 =@l

D) arsfiae iv) Sieeh =0

(1) (A) - (i), (B) - (iii), (C) - (iv), (D) - (i)
(@) (A) - (i), (B) — (iii), (C) — (i), (D) — (iv)
) (A) =), (B) - (i), (C) - (iii), (D) = (iv)
4)  (A) - (iv), (B) — (iii), (C) — (ii), (D) — (i)

Options:

E4E350663499. 1
64535066400, 2
64535066401, 5
64535066402, 4

Question Number : 77 Question Id : 64635016903 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



R i O PRT P

L () s il (A) (D)
&y (i) e s n (B) (2
C8in s il (jid) G g (C) (3)
dast £l (iv) Hsisa 0¥ Sise Sy (D) (@)
@ U fhawis s Sret e
(1) A) TR T3 i) I}
(2) B) =0 fermamft i) @
(3) ©) W wh iii) AT S HeFe
(4) D) =N O™ Aamlt  iv) S Feord
Options:

64535066403, 1
64535066404, 2
64535066405, 3
EAEZ5066406, 4

Question Number : 77 Question Id : 64635016903 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Lol B a0l ¢ (sl

L (i) > il (A) (D)
Gy (i) ea g » (B) (2
i s il (jid) e O (C) (3)
dask £l (iv) Hsism Y Sise Sy (D) ()
A € fhamfy s sier firam:
(1) A) FR=TZ i) g
(2) B) &0 fermamf i) 9
(3) ©) meT qAh iii) O S HES
(4) D) =N Adee Saamlt iv) STl HeoHa
Options:

64535066403, 1
64535086404, 2



E4E35066405. 3
EAE35066406. 4

Question Number : 78 Question Id : 64635016904 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

tahe WU ol )8 ¢ Oiles
Cige 5a las (1) Losie (A) (D)
SRR (i) by (B) (2
LGBE L) (lih) g2 (C) (3
:;%;Las
vl (iv) (D) @

(1) A) mrem i) 7FEr S A

(2) B) wgml ii) TE e wEm
(8) C) =l iii) f=rft = =i 7 w=mi
(4) D) fordt iv) 5

Options:

EAE35066407. 1
64535066408, 2
64535066409, 3
E4535066410. 4

Question Number : 78 Question Id : 64635016904 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



tahe YU s (ol yS ¢ Oiles

Cige s lae (1) Losie (A) (D)
S Rdisef (ih) by (B) (2
LGBE RN (li) ¢» (C) 3
g PP
¢S (iv) =s(D) (4)
Eh?TfETﬂﬁ ERETCERS IS SR LI
(1) A) BRm i) HHan S A
(2) B) v2m ii) TE e wgm
(3) C) = iii) fwarft 7 wfaan 7 =i
(4) D) fordt iv) &

Options:
EAE2E08E407. 1

EAE35066408. 2
E4E35066409. 3
BAE35066410. 4

Question Number : 79 Question Id : 64635016905 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



s 9k 135 b (Sl

goid 28 Q) SRR (A)
A8 Gi) a3 (B)
waddaal (i) OB (©)
GG il &S (D)
(i) D (ii) £ (iid) B Gvy A (1)
Gj D Q) c G ® B &
@) b () C @) B @§ & B
(i) D (idi ) 3 (ii) B vy A (4)
TR ST | g1 e

(1) 1) a-iv, b-ii, c-ii, d-i
(2)  92) a-ii, b-iv, e, d-ii
(3) 8)a-, b-iv, c-i, d-iii
(4)  4) a-iv, b-ii, e-iii, d-i

Options:

64535066411,
48350668412,
4535066413,
64535066414,

o IR

Question Number : 79 Question Id : 64635016905 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



s 9k 135 b (Sl

goid 28 Q) SRR (A)
A8 Gi) a3 (B)
waddaal (i) OB (©)
GG il &S (D)
(i) D (ii) £ (iid) B Gvy A (1)
Gj D Q) c G ® B &
@) b () C @) B @§ & B
(i) D (idi ) 3 (ii) B vy A (4)
TR ST | g1 e

(1) 1) a-iv, b-ii, c-ii, d-i
(2)  92) a-ii, b-iv, e, d-ii
(3) 8)a-, b-iv, c-i, d-iii
(4)  4) a-iv, b-ii, e-iii, d-i

Options:

64535066411,
48350668412,
4535066413,
64535066414,

o IR

Question Number : 80 Question Id : 64635016906 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T PR ETEN PNy W g P13

Sl s 131 () et WL LSRN (a)
Shiilym b (i) a Sl J 2l (B)
¥ sl (i) «ke (C)
DS S (i) Ostelab B (D)
(1) D (11) 2 (1v) B (am) A Q)
(1) 1B (1v) 2 (111) B (11) A (2)
i) D Gy C i) B iv) A 3
D (1v) & (11) B (1) A (4)
(111)
FRIE € dwsty s wd st e
a) frerft 7 wfaan, 7 wamft 1) 321 arEamf
b) 9fést WY ek ii) 919 Rl
¢) A3 iii) $¥ =5
d) foe STy iv) @ fgami

(1) 1) a-iii, b-iv, e-ii, d-i
(2)  9) a-ii, b-iii, e-iv, d-i
(3)  3) a-iv, b-i, e-ii, d-iii
(4)  4) a-i, b-ii, c-iv, d-iii

Options:
E4E35066415.

EAE3S0EE641E,
EAE35066417.
EAE35066415.

[ N

Question Number : 80 Question Id : 64635016906 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



T PR ETEN PNy W g P13

gl 5 a1 (5) ses gL Suj (A)
gl Ry (@) gl (B)
i sl (i) «ke (C)
(S (iv) Osielal sy (D)
(1) D (11) 2 (1v) B (am) A Q)
(i) D iv) C (i) B a A 12
(i) D (ii) & () B (v) A 3)
D (iv) C (i) B @ A (@
(iii)
FRIES € et = @t st fien:
a) foreht 7 faar, 7 wamfl i) 31 arEamh
b) 9fEs W goeh | ii) Tt Fremf
c) T3 iii) $¥ =5
d) fiean smeT iv) @ fgami

(1) 1) a-iii, b-iv, e-ii, d-i
(2) 9 a-ii, b-iii, e-iv, d-i
(3)  3) a-iv, b-i, e-ii, d-iii

(4)  4) a-i, b-ii, e-iv, d-iii

Options:
64535066415 1

EAE3506E41E. 2
EAE35066417. 3
EAE35066415. 4

Sub-Section Number: 3
Sub-Section Id: 646350814
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 64635016907 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



“ Liaka g e g€ 568l 5 p Oa
T a2 Ceis )

ikl dald (1)

Gy ol (2)

Galia du (3)

tcw:’ﬂgﬁﬁm [4)

IO GR 74, Hel 92 fa@ qmE =,
afg o arg #o-us, Aed A |
#et &g St = eme?

(1) Mg adi®

(2) == g
(3) =t wfzw

4) fpyras Saw’
Options:
64535066419 1
64535066420, 2
64E35066421. 2
GARRE0EE422. 4

Question Number : 81 Question Id : 64635016907 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



el SIS o 5 Iae (g 515 L 53
“liia g e g€ 68l 5 p (e
Tl 2 o bl
cadal 4bld (1)
Cusa o ol (2)
Gaba <la (3)
“oand” diaiie (4)
IO GR 74, Hel 92 fa@ qmE =,
afg o arg #o-us, Aed A |
#e1 wfg St = emR?
(1) Mg adi®
(2) w=a1 9
(3) =t wfea

4) fpyras Saw’
Options:
64535066419 1
64535066420, 2
64E35066421. 2
GARRE0EE422. 4

Question Number : 82 Question Id : 64635016908 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T 1800 o Jsbi g 5es Laiy 8
ghL (1)
f o P8Ol 5 (@)
Ugn sl (3)
Ol o Sle (4)
i HR2 T S TR R
(1) TeEH
(2) e %E q fsu?
(8) TR Wi EE

(4) | S FaE
Options:
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 119 Question Id : 64635016945 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 120 Question Id : 64635016946 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 120 Question Id : 64635016946 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 121 Question Id : 64635016947 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

R0l Bd Gor SRS L 3y i peed (S 3 b b (afS o (5 548 Sl i L
21 (5388 ghes () 71 558 5a Giga e S S (o Sl 519 (B8 (g 2 OST a4
TRl Jiog Gl GBS
wal ¢ Ghie « 55 (1)
Bos Loy Ugu la o il adgie (2)
O O aleie @ ()
Sl dgak allsdgat  (4)
“Fa1 ufe o HR T g, - w € wow wigh fmel = faw o) =
D1, T 310 H fid 7l I e & T @ T g e’ @ fig w3 eme.
qi aTfa ?
(1) 7@, ¥F T g

Options:



EAE35066575. 1
BAE35066580. 2
E4E35066581. 3
64535066582, 4

Question Number : 121 Question Id : 64635016947 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 122 Question Id : 64635016948 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e ) Mool 8l galgdl Gle 43 LD (3T K gY Lags (ST (ge AgMS g g A
Tl (e 5 S 5 308
PR 08 (1)
sl (2)
S (3)
a8 Oserp Y (4)
“T U3, o I AE IS AR A AW 35, @ W qieen e fagi?” die It
FHES FHawiiet m eTE ?
(1) wfegH S %

Options:
E4E2E08E583. 1

EAE35066584. 2
E4E35066585. 3
EAE350665586. 4
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 123 Question Id : 64635016949 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 123 Question Id : 64635016949 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 124 Question Id : 64635016950 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 124 Question Id : 64635016950 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 125 Question 1d : 64635016951 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 125 Question Id : 64635016951 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
S G Al AT 5 M paiie iR b 8 g5 8 45 Bk (SIS
(_E‘HJJ'IP "
S8 das 8 (1)
shex (2
Ostaa  (8)
Oy o> U= (4)

“TreTitar St Bma T w6, e gl mafeni)
Tfestt et § 18 Aedt 915 Faswoil”

(1) Tt faze e

(2) =

(3) fufsy
(4) Rl St S

Options:

64535066595, 1
E4E3S08E59E. 2
E4E3508E597. 2
64535066598, 4

Question Number : 126 Question Id : 64635016952 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 126 Question 1d : 64635016952 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 127 Question Id : 64635016953 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 128 Question Id : 64635016954 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 129 Question 1d : 64635016955 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 131 Question Id : 64635016957 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 137 Question 1d : 64635016963 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 139 Question Id : 64635016965 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 140 Question Id : 64635016966 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 141 Question Id : 64635016967 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 143 Question Id : 64635016969 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 143 Question Id : 64635016969 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 144 Question Id : 64635016970 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 144 Question Id : 64635016970 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 147 Question Id : 64635016973 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Toih gala ) (K da jodul SIS

Jsal (1)

e (2)

Juss (8)

ssaal (4)

FEVTHR $7er =I5t {6 a1 81 ?
(1) =R
(2) TR
(8) w@
(4) R

Options:

EAE3506EEES. 1
EAE35066E84. 2
E4E35066685. 3
E4E53S0E665E. 4
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Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical
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